5) The talse position metthod : ‘
This methoo! 15 similar to the bisection
| method anof Fe7u/'res tewo 1nitial values o

Land b . o

- Algorithm Steps e |
! /) Choose an interval La,bd swuch that
| Fea) % £¢b) 2 O

- 2) Find x. as an instanlaneous root .

x o af®-bfe
: feo)—fea)y

4) a fa) fCX[) Z A, then b= X . an od fcb)
L= FCXC- e ——— o
.[7[ F(a) * f(xc.)..>_() s then a = X, a nol

—Far=Fcx

| 5) /sz/oeaé the 54‘6/05, (2) to (H) cbove fo
fFrnd a new e e and S0 047 -

i c{) End éée Ca/czz/aé/'oﬂs_. 4(]4(3/7 L‘éeﬂcz/k/c’ﬁ
accuracy condstron s salistred.

| Exam/o/e . Find the rool of the eyaaé/m?

E 6%-'5)< —0 /n I=CL2,3]1,correct to €=0-05

|




D

,(/5/2_9? the é/se /oos/é/'o/) miecthbodd.

‘ Leﬁ F(x)_-:ex—-b'x il e 2 omo{ b.—__—3_
| Sinre Leod e e it = .3 &16649 ol Cuve)

and £C3)=E"-15=5.085536923 (+ ve)
L Ehern Fcz)* F(i’) L O and o rooZ of
L Fex)=0 lies between 2 and 3.

"X: (b)—bf(a) 2/}3)~3F(z)
! s — Fas £33y — F¢z2)

= 2-3‘3?2_38668

| f<><>-— e =5 X = . [ 322857339 (. ue)
| Since /[Za)*- F(x)_>o 2hHen a:_x! anol

- fFeay= Fex)=~1.322857339.

2.339238668 F(3)— 3 [ (2-339238648)
Fc 3) — f(z 339238668

2. "1’75536795

"

| x
: 2

If

oy = 5% = _0.488908237 (—ve)
Since F(a)-)ef\(x)so,téena x oand
f(a) —-F(x =0 .488908237

2475636795 fcz)—3 £ (2-475636795)
,f<3>—f F(2.4756346795)

K =




= EDLD )3

[(x>.~e_5x =—0.15930841 (—ve)
Smcc Fca)*fcx)>.o then a = 2 anol
F(a>-,f(>< Y= _—0.15930641 .

| x = 2-52/525213 F(3)—3 £(2.521626213)

7 F(3)— F(2.521626213)
— 2.53615429¢6
_, ,c‘qu)__:@‘*__ 5"4 _ _o0.049753863

- Since /FCK )/ O . 0;/62753853 ZL e, ééen .
the roold X — 2.536156294

e el i

EX@)’CISQS :Solve. f’hc Follou)maq eCflAai'lOY)S Z’Jé/

U_SI} the fafse./oos/f/on methoel :

,DX 2_>< =X 4| In the interval [-| o:l anaf.
S - 0 ool .

2) 6 =3X in Z'Ae /ﬂferz/o(/ E 2] ano{ E=o0.0l.




